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x1 X2 x1 X2 x1 X2 x1 X2 x1 X2
3.907 8,879] 49.857| 21.913| 126.872 8,879| 117.081 2.703 257.557 4.025
5.151 1,836 148.995| 31.158| 165.380 1,836 484.323 3.535] 3,429.246 3.198
5.646 383| 261.512] 25.078| 280.739 383| 516.893 3.859] 1,215.709 5.153
5.026 548| 127.869] 32.549| 186.124 548| 259.721 3.676] 1,436.554 3.764
4.296 6] 80.763] 23.210| 147.573 6] 76.741 3.188 200.810 3.815
4.606 7] 91.409] 27.981| 153.486 7| 122.672 3.432 518.207 3.670
4,324 616| 10,284] 7,332] 40,137

12,724 1,716 9,030| 17,954| 135,447

17,007 2,239] 15,236] 20,178| 148,329

10,489 1,629 9,626| 14,785| 78,241

2,301 890 7,031 9,117| 25,478

5,619] 1,173 7,387| 11,162| 31,429

3,103.3| 5,316.9 1,217| 2,499.8 472 66,483 61,134
12,723.4| 45,448.7 13,276] 7,534.4 1,706 726,110 764,375
3,325.2[13,779.7 3,354| 1,977.8 405 238,487 226,332
8,115.2|27,664.4 6,643 5,037.4 1,234 365,159 364,229

898.4] 1,751.4 447 855.2 258 21,139 19,364
2,643.2| 8,774.8 1,723 2,101.1 574 79,366 72,851




